EARAROBEEIERT — 2 N— IBISH —F

2019565230 (B) 7EI£IR3H

Il S>%—#% C19 B
[AE4£] 1% :270,000 M ~ 23#%&:62,000"  33%&:32,000H” . 437&:24,000H . 57 :16,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
il xtE=vvry > 4 gnﬁfﬂgiE% 1:(‘ﬂ)‘9 1-1-1-1 | 42.6| — 3 <4+121) j';g?lﬁ_ﬁg (£iR)
L:E¥r7AvY BANMTTIC VI [Ea=Eae]
olglg| TVUTL RLE— f 5 ?{‘%%”7 1:(412).1 3-3-2-3 |42.6| — 1 (4_552) EEE%_@ (&£R)
R:ZAx—b77)0> B:TSATLXLE— BEMHGEN KRS
EEA . —5-3- - WEF= (£R)
3l5l5|TF7—% it 4 o 1.(412>.3 5-5-3-2 | 42.7 6 <4+337) e
R:27)—re—A— B:3INVU12vT AHEEE
S ORI o FEHFIEAR 142, -4-3- . — hnEEFNE (£R)
3lgliol S¥HTVLTa i 4 B 1(@42%) 4-4-3-5 | 42.7 10 <4+313; e T
R:O—-Y X4 A14 B INRIwILU— ANEHIS
N S KEH 142, -9-9- . — BEERE (&R
5 NPT = > o4 s 1(7425;1 9-9-9-10 | 41.3 5 (4_617) E(H) & ER L
LN=V9774 B:FRyhrLyIX HE77—»4L
R g o4 | EREA 1:42.5 6-6-7-4 |42.8| — 2 509 | MIEEFIZE (£IR)
6l7]7| x#H/F=ILEK 5.0 (3/4) (+6) | BAMRAER
Rid— K7 Y 2—Ib BRI E fE
7 2 6 | KESH 1:42.6 7-8-8-7 |42.2| — 7 457 | BIERZ (£R)
4 3 Kl dds 5.0 (76) 42 | B Tr—ZrEvar
x40 B:77)I—-Yar H—L— - TvIS> « T7— LERSE
o BEMALA : 73— — eiaRez (£R)
8 NEIS H 6 5 1.(423).0 8-7-3-6 | 43.2 4 (4:313; i
L:T7 RIS Y L—> BHATH—Ta—A H—L— - JvX> - T7—LARS
N B 143 ~10-10- . — JIZRBARL (£9R)
N ; BESECEE A R ) SR R R ek
RZFAT—IE BiEg—Y v XAE— VEE PR LN
- o 5. o3 8| — BIHET (&R
1017l 8 SRA—T IR 4 6 e 1(495)4 2-2-3-7 | 45.8 8 (4:359) risi
L:214x 0 ML B:dr—Z2 e 1EAE #3
® 1—F—@EBIERL
1T=7r= 1,8,9,10,5,7,3,4,6,2
20—F— 1,8,9,10,5,7,4,3,6,2
Ja=5= 1,9, (4,5,8,10),7,3,6,2
43—4— |[1,5,9,7,10,4,(3,8),2,6
[ /N
B 1 530M 714K 1-9 260M e E 1-8 740M JEE 1-9-10 16,140H
B B 1 1204 IS5 660 e B 1-8 1,720 JEE 1= 8,040
9 120 1-10 4,290 B & 1-9 640M 1-9-10 75,580H
5 260 5-9 290M B H 1-9 2,090
10 1,780 9-10 3,080

ABICOVWTRDTEEERROODE. TR LIV,



